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1 —#RE
FHE 4, 205187, 60377 FH (RIEELL 1. 2%18)
(1) HERIAER
(HAT: TH)
x4 Rk 244F i Rk 2 34EJE HAR AT =%
HHID Ak %0 EXIO) Wt % | O—0=0Q [ @/ @
NG ¢ 400,272,211 95.2| 396,334,509 95.3 3,937,702 1.0
e & R 7,635,091 1.8 5,753,131 1.4 1,881,960 32.7
Y o 6,819,790 1.6 7,561,743 1.8] A 741,953 A 9.8
Z DD E 5,848,945 1.4 6,064,757 1.5 A 215,812 A 3.6
& Bt 420,576,037 100.0| 415,714,140 100.0 4,861,897 1.2
(2)ERINER
(HAT: TH)
x4 Rk 244F i Rk 2 34EJE HEIREE %
BHID F5 % b %0 0O % | O—0=0) [ @/ ®
1 F w5 & 63,202,381 15.0 57,611,233 13.9 5,591,148 9.7
2WH /N B #| 153,964,482 36.6| 155,212,610 37.3| A 1,248,128 A 0.8
31 F /| 88,437,459 21.0| 88,830,970 21.4| A 393,511 A 0.4
ATH /& %% % B %] 78,879,781 18.8| 78,327,288 18.8 552,493 0.7
SIH KeRI B 31,539,884 7.5 31,102,004 7.5 437,880 1.4
6t = B &' 2,191,708 0.5 2,474,424 0.6] A 282,716] A 11.4
T R /KB OH 2,360,342 0.6 2,155,611 0.5 204,731 9.5
& F 420,576,037 100.0| 415,714,140 100.0 4,861,897 1.2
(3) BHEMER
(HAT: TH)
R Frk2at R TRR2 I L | 1%
BHID F5 % b %0 0O % | O—0=0 [ @/ ®
gy 5 & A H 4 165,791 0.0 156,644 0.0 9,147 5.8
i OB F Bk 532,266 0.1 519,274 0.1 12,992 2.5
ﬁ & 4| 78,105,345 18.6| 78,901,704 19.0 A 796,359 A 1.0
/é; Mo I A 194,026 0.1 192,869 0.1 1,157 0.6
g | A 4 411,013 0.1 456,121 0.1 A 45,108 A 9.9
B I A 541,239 0.1 583,095 0.1 A 41,856 AN T.2
Ik &l 16,932,500 4.0 2,639,400 0.6| 14,293,100 541.5
— & B R | 323,693,857 77.0] 332,265,033 80.0| A 8,571,176 A 2.6
& 4 420,576,037 100.0| 415,714,140 100.0 4,861,897 1.2




